PROBLEMS IN FORECASTING

1. Sales of Maliwanag batteries for the past ten months are given below, forecast the  

     sales for the 11th month using the 3-month moving average method.

MONHTS



SALES (1,000 P’s)

January



  
20







February



  
22




March




  
21




April




  
19




May




  
23




June




 
23




July





24




August




  
26




September



  
23




October



  
20




November



   
 ?

    Answer:

                                    n



F11 =     (  Xi

                                   i=1



              n



F11 = 20 + 23 + 26




   3



F11 = 23



The forecasted sales for November is PhP 23,000.00.

2. A computer store has the following record of sales for the following periods.  Develop 

an exponential smoothing forecast using ( = 0.40.



PERIOD

MONTH

SALES (in units)



    1


January


56



    2


February


61



    3


March



55



    4


April



70



    5


May



66



    6


June



65



    7


July



72



    8


August



75



    9


September


---


Given:   Exponential Smoothing, ( = 0.40



  Assuming forecast F2=56

Answer:


Ft+1 = (Xt + (1-() Ft


F2= 0.40 (56) + (0.60) (56) = 56

F3= 0.40 (61) + (0.60) (56) = 58


F4= 0.40 (55) + (0.60) (58) = 56.8

F5= 0.40 (70) + (0.60) (56.8) = 62.08


F6= 0.40 (66) + (0.60) (62.08) = 64.08


F7= 0.40 (65) + (0.60) (64.08) = 64.45

F8= 0.40 (72) + (0.60) (64.45) = 67.47


F9= 0.40 (75) + (0.60) (67.47) =  70.48

3.   A Toyota car dealer in Quezon City wants to be able to forecast accurately the

     demand for their Toyota Camry cars during the next months.  From sales records,

      the dealer has obtained the following data.

	Month
	Car Sales in units

	January

February

March

April

May

June

July 

August

September

October

November

December

January
	9

8

11

8

7

12

10

11

12

10

14

16

----


     Compute the 5-month moving average forecast of demand up to January of next year.

Answer:


June =  7+8+11+8+9  =  8.6 or 9


        
       5


July = 12+7+8+11+8  =  9.2 or 9



       5


August = 10+12+7+8+11 = 9.6 or 10




5




September = 11+10+12+7+8 =  9.6 or 10




      5


October  =  12+11+10+12+7  =  10.4 or 10




   5


November  =  10+12+11+10+12  = 11




       5


December  =  14+10+12+11+10   = 11.4 or 11




       5


January = 16+14+10+12+11   =   12.6 or 13




   5

4. Using the same data in number 3, compute the linear trend line forecast of demand 

     (using the method of least square) of January of next year.

Answer:

	Month
	Period

t
	X (Demand)
	Xt
	t2

	January

February

March

April

May

June

July 

August

September

October

November

December

TOTALS
	1

2

3

4

5

6

7

8

9

10

11

12

78
	9

8

11

8

7

12

10

11

12

10

14

16

128
	9

16

33

32

35

72

70

88

108

100

154

192

909
	1

4

9

16

25

36

49

64

81

100

121

144

650



t  = 78/12



 x  = 128/12


   =  6.5




     = 10.67



b = ( Xt – nxt   =   909 – 12(10.67) (6.5)


       (t2 – n (t)2
         650 - 12(6.5)2


b = 76.74


       143


b =  0.537

a = x – b t


   = 10.67 – 0.537 (6.5)


   =  7.18

Fjan = a + bt


      =  7.18 + 0.537(13)


      = 14.67


The demand for January of next year is 14.67 or 16 units.

5. Sales of ABC Company for the past year are given below, Solve the forecast sale for 

December using the 3-month moving average method if a weight of 50% is assigned to the most recent month, 30% to the second most recent and 20% to the third most recent month.


Months    Jan
 Feb  Mar  Apr
 May  Jun  Jul   Aug  Sept  Oct  Nov  Dec


Sales
     20    22    24    26    23    27    29   25     21     23   20    25

n

Answer:     WFDEC =   ( Wi Xi




     i=1




=  0.50(20) + 0.30(23) + 0.20(21)




=  21.1 units

